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1 |dbiEE 1.2E+4 12,300.0 12,3000
2 |EEHER
3 |AFER
4 [ERE
5 |®MHEER 2 0E+4 20,000.0 20,000.0
6 |[WLUKZE
7 |EER 3.2E+2 320.0 320.0
8 |ZWE 5.9E+3 5,930.0 5,930.0
9 [HKRE
10 |HBE
11 |BEE
12 | TER 3.3E+3 3,310.0 3,310.0
13 |READ 7.3E+3 7,300.0 7,300.0
14 [#FIE 1.3E+3 1,300.0 1,300.0
15 |#RE 8.1E+2 810.0 810.0
16 |EWLE 8.1E+3 8,100.0 8,100.0
17 | BN
18 |[EHE
19 |ILBE
20 |RHE
21 |IKBE
22 |BEE
23 |BHE 3.9E+3 3,920.0 3.920.0
24 |[=ZEER 1.4E+4 14,000.0 14,000.0
25 |ipER
26 | HERRT
27 | KBRFF
28 | EER 5.7E+3 5,660.0 5,660.0
29 |E=RE
30 [fOFRLE 2.5E+3 2,500.0 2,500.0
31 |EWE
32 |BRE
33 [EWLE 2.8E+3 2,800.0 2,800.0
34 |IEBR 1.2E+4 12,080.0 12,080.0
35 o R 4.6E+4 45,520.0 45,520.0
36 |[EER 1.7E+3 1,700.0 1,700.0
37 |FBIIR 2.1E+3 2,100.0 2,100.0
38 |ER®RE 3.0E+2 300.0 300.0
39 |=HER
40 |fERE 1.8E+4 17,570.0 17,570.0
41 [EER 7.3E+2 730.0 730.0
42 | RIER 1.5E+3 1,500.0 1,500.0
43 [RBERE
44 | KHE 1.8E+3 1,760.0 1,760.0
45 | BIBE
46 |[BRIEBE 2.1E+3 2,050.0 2,050.0
47 B
Z F 1.7E+5 173,560.0 173.560.0
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